ﬁ % { \\_\E g 4eThIpE 3HaKa I0CIIe 3aIATOH, OPsI0K onepanuii co

CKOOKaMu

Nwms: Hara:_ Omenka:
(4,9+6,5)x3,9-5,3= 6,7—5,44,1—-4,6)=

5,3+6,7(3,9—5,9) = (12+4+5,5)%x2,5=

(30+5-3,3)x5,2 = (3,7—2,4)x5,7+3 =

(10+2-3,6)x6,7 = 12(5,3 -5,9)+3 =

(2,1+3,5)%x6,1-3,6= (5,5+5,1)x2,2—-6,9=
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ﬁ % ( \\_\E g 4eThIpE 3HaKa I0CIIe 3aIATOH, OPsI0K onepanuii co

CKOOKaMu

Nwms: Hara:_ Omenka:
(4,9+6,5)x3,9-5,3=39.16 6,7—5,44,1-4,6)=94
5,3+6,7(3,9—-5,9)=—-8.1 (12+4+5,5)x2,5=21.25
(30+5-3,3)x5,2=14.04 (3,7—2,4)x5,7+3=1041
(10+2-3,6) x6,7=9.38 12(5,3-5,9)+~3=-24
(2,1+3,5)x6,1—-3,6=30.56 (5,5+5,1)x2,2—-6,9=16.42
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